Name: Class: Date:

Precalculus G11 Ch12 H.W.

Indicate the answer choice that best completes the statement or answers the question.

ﬁ -
1. Estimate lin dlx —dx 1 = SR+ 1.
YW 4x" -4
a. 0 b.5

C. © d. Limit does not exist.

. B+ Ix+T
2. Estimate hm Tusmg a graph.

¥ w 4x

¥

-2
_4__
_G__
4_-
a. 0 b.2

C. o0 d. Limit does not exist.

3. Estimate lim Axwhere fx)= 1%~ > x<d

k=l x+5 x=z=2

HE HE

B = Gh D o B

moe b !‘ L&

a. 4 b.7
c. -3 d. Limit does not exist.
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<]
4, Estimate lim M.
K=o x -5

a. 0 b.2
C. © d. Limit does not exist.

5. Use limits to find the appropriate area between the graph of the function and the x-axis given by the definite integral
T
Iu 25/\4' x* dx.
a. 10%/14 units?  b. 25%/49 units?
C. 253/14 units>  d.10%/49 units?

6. Estimate lim 3x* — 8x + 9using a graph.

K= 3
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iy
(= =] ==}
"
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E L b &

—
==

a. 3 b. 60
c. 12 d. Limit does not exist.
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7. Estimate lim x* - fix + Susing a graph.

K= 3

y /

r"’é;dd_ﬂd

o L=

o
—
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e
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oo

£

I
o

A

—
L=

a. 32 b. -9
c.4 d. Limit does not exist.

2
8. Estimate Lm X -x=2
K==l x+1
a. 0 b. -3

c.—2 d. Limit does not exist.

9. Evaluate the indefinite integral. _[ [ij +4xt - 4] dx

a s s 4 4 b.5 5 4 5

6x +5x + 6x +5x Ax+
C.5 s 4 5 d-ésﬂ4

6x +5x + 6x +5x Ax+

6x* -5

10. Use a graphing calculator to find the value of the limit. lim

N—5mw
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4 —
11. Use a graphing calculator to find the value of the limit. Lm TJ; 7 ) _
Y=o X
a. 5 b
] 7
c. 6 do
5
2
12. Estimate lin WUsing a graph.

= w +4

¥

T
= ) 4 8 ]

—a

a1

ol

ol

a. 0 b.2
C. o© d. Limit does not exist.

13. Estimate ;2 4x3 + 4x + 2,

a. 2 b.1

C.to d. —co

2

14. Estimate km *—9%=7
¥ -1 x+1
a. 0 b. -8

c.-12 d. Limit does not exist.
15. Which is the area between the x-axis and ¥ = x fromx = 1to x = 67

ag'-1* 215 bg4® a7
3 3 3 3

.ty 12o7  dogtot q298
4 4 4 4
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16. Find the approximate area between the curve f{x) = -2x* + 16x + 3and the x-axis on the interval [0, 8]using 4
rectangles. Use the left endpoint of each rectangle to determine the height.

¥

120
100
&
0
40

20

] 10 15 ¥

a. 80 square units b. 184 square units
c. 576 square units  d. 144 square units

17. Estimate lim x* — 6x + 8using a graph.

¥—=+12

B e o oG
]
—

1
=]

1
L]
b
.
L
=3
oo

=

[

E & &

—
=2

a. 24 b.-8
c.0 d. Limit does not exist.

al s 24 b.1 5 2 4

3x +3x + 3x +3x +5x+
C.1lg 23 d1lg 23

3x +3x + 3x +3x +5x+
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Find the derivative of each function.
7

19. b(m)= 2m° + = — 12m
2

a 3
2

T +iE—12m 2m +i3—12
2 M
c. 3 d 3
m? - L 1om mi -2 1
L i

G
20. Estimate lip 2X 2%+ 2
S w ixT -3
a.o0 b.2

C. © d. Limit does not exist.

. . A 4
21. Use the Quotient Rule to find the derivative of fx) = = _xlg )
a T b. 29
(Tx— 18)° (Tx— 18)*
c. x-—29 d =x+72
(Tx— 18)° (Tx - 18)°

22. Use limits to find the appropriate area between the graph of the function and the x-axis given by the definite integral
T
Iu 95«4' x* dx.
a. 25363 units®  b- 45349 units?
C. 45363 units® - 25349 units?
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23. Estimate lim 3x* — 8x + 4using a graph.
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i cL_,a;——ng
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a. -1 b. 15
c.-5 d. Limit does not exist.

24. Evaluate the indefinite integral. _[ [x“ +2x° + 4] dx

al gy 24 b.1 4 2,
Sx +3x +4x+ 5x +3x +

0.1533 -1533
Sx +3x +4x+ 5x +3x +

25. Evaluate the indefinite integral. _[ (Exj + 6zt + 4de

al s 6 4 b.1 5 6 4
3x+5x+C 3x+5x+4x+t‘_?
¢ lxﬁ+Ex5+4x+C 'lxﬁ+Ex5+C

3 5 3 5
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2
26. Estimate lim WUsing a graph.
o X454
¥
E 4+
|5 4+
N
-8 4 ' 4 8 x
24
_4 4
_G 4
_3 4
a.0 b.5

C. © d. Limit does not exist.

3 —
27. Use a graphing calculator to find the value of the limit. lim Txg . 2 .
¥ w X
a§ b4
T
c0 d 1
4

4

28. Use limits to evaluate the integral. _[Sx3 dx
a

a. 1280 b. 16
c. 320 d. 80

29. Use the Fundamental Theorem of Calculus to find the area of the region between the graph of the function
a 4

57 8 % . . .

2 x4 3 x° +6and the x-axis on the interval [1,12]. Round off your answer to the nearest integer.

a. 182 units? b. 151 units?
C. 146 units® 9. 162 units?



Name: Class: Date:

Precalculus G11 Ch12 H.W.

30. Which is the area between the x-axis and ¥ = x* from x = 1to x = 47

2441 17 b 441 g
2 2 33
15 -0

I3
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